
Changing the Subject of a Formula - 3 

Change the subject of each formula to x: 

1. 12 += xy 2. 42 −= xy 3. axy += 2

4. kxy −= 2 5. cxy += 2 6. pxy −= 2

7. 23xy = 8. 25xy = 9. 2axy =

10. 
6

2xy = 11. 
c
xy

2

= 12. 
m
xy

2

=

13. exy += 2 14. 2pxy = 15. cxy −= 2

16. 
f

xy
2

= 17. txy += 2 18. 2kxy =

Change the subject of each formula to the letter in brackets: 

19. 25td =    (t) 20. 2rA π=    (r) 21. hxV 2=    (x)

22. 2IdC =    (d) 23. 24 rS π=    (r) 24. 24TL =    (T)

25. 14 2 += xy    (x) 26. 53 2 −= xy    (x) 27. 32 2 += xy    (x)

28. 15 2 −= xy    (x) 29. baxy += 2    (x) 30. ckxy −= 2    (x)

31. qpxy += 2    (x) 32. aktd += 2    (t) 33. mafh −= 2    (f)

34. 
3

12 +
=

xy    (x) 35. 
2

12 −
=

xy    (x) 36. 
m

atp +
=

2

   (t) 

37. 
2

2rA π
=    (r) 38. 

2

2gtd =    (t) 39. 
3

2hrV π
=  (r) 



 

Answers 
 
1. 1−= yx   2. 4+= yx   3. ayx −=  
 
4. kyx +=   5. cyx −=   6. pyx +=  
 

7. 
3
yx =   8. 

5
yx =   9. 

a
yx =  

 
10. yx 6=   11. cyx =   12. myx =  
 

13. eyx −=   14. 
p
yx =   15. cyx +=  

 

16. fyx =   17. tyx −=   18. 
k
yx =  

 

19. 
5
dt =   20. 

π
Ar =   21. 

h
Vx =  

 

22. 
I
Cd =   23. 

π4
Sr =   24. 

4
LT =  

 

25. 
4

1−
=

yx   26. 
3

5+
=

yx   27. 
2

3−
=

yx  

 

28. 
5

1+
=

yx   29. 
a

byx −
=   30. 

k
cyx +

=  

 

31. 
p

qyx −
=   32. 

k
adt −

=   33. 
a

mhf +
=  

 
34. 13 −= yx   35. 12 += yx   36. ampt −=  
 

37. 
π
Ar 2

=   38. 
g
dt 2

=   39. 
h
Vr
π
3

=  

 
 
 


